S:.C[,\Wa‘(kg C\/\X\&t

0{5‘11“ (1_,1*/: >&}(‘L " d‘;’M ~+ r_«), AQ’L

Al
. Q ?
Hb(’\%o\ﬂ/) \ = LM
MV\Y»OWSM ; ATz _ e drt +rid St
CO)C(L ‘9&7,)/ o qu' ¥ Y‘zﬂ tF?‘ XT,)"Cejf reo —
e[ o, 2 | JECEng  Koppuneg
OCodemmno ol
065’21 v drt e P dd* , VoA , T2,0
ds' 1,8l 4
— = dr ¢+ U i ——

@% prmvt M g\@%@ojga\
T[Voeﬁ'(?qu c)r(»o M\A\w@%w "

3

dePe J ATy et e AL,

2w (¥)
T\*(’,ov%mi 9}{\/ ()= gus O =€ Ualeris OWW

Hime e / SF%C&/\’\K& Ld?tAéM é g/m/ = //i‘:)
9{Mu U Gy = R opuse onplosenerion



&A&pw ODC)G) — L X > &~ s Xz @ D X<Xg gg/
My

)
~  koudopurth  konnpETnduimsus

o{,SZ: —-0U:24aéllr1 -PYloQQZ | d,Q;': ss{\z?-@oi@"w« ap’z

Eecmuewooﬂg el T L ] 16> <@

h«\—f?\: ardcél C—l:-rr) [T’IR]4§
T-L < orokg (x-v) R >0

{ Sin2R \%
0(,5’1‘:. —— -&TZ—Psz-e ( ‘; ) 0{922)
8% (TeR.) o (r-R)

- I\ vt 6t —past ) Ladure
L USSR VoY it
T j:; = F¢$ {‘/jcu'fhrﬁ
reell L finty
7 petal i,

v 3 Rro  T= -"1 = o0&~ E%“*@‘B A%gcT—a?)—~Lf3[-rI}2)

t= —R L1

L—(—,. R:O) T= IC/Z. 5 ﬁ‘:?% A 2l r
== —;"h”l 2 2tz b () +4(2%) - oa
st, T= 2k b eon Al
‘ i = R
\‘0 . T=v ] = K]Z_ — + —~ roSoe

_oemt







